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2 M ENFEREE-REGIEIUSHIE No. 1
% b 1 = = Bifs1 i £ E &
EHIETEE
I BETE 10| =% 285,503,073
I | EXXEIE 10| =& 44,660,292
I | #WEELISE HETEICEVIESD 10 = 46,852,200
EEIEE: 377,015,565
HEE
I HERERE 10| =% 15,921,480
I | RGERE 10| = 33,912,242
m | —fRERE 10| = 47,593,694
HEEE 97,427,416
&t 474,442 981
RETEEE (TEME) FRARBIVIET 474,442,000
HEMEHELE 37,955,360
BEH(IEE) 512,397,360




B ERENFRIBEE-REMERERTISE No. 2
% FR 1 = 2 | Bfi il * & ]

I [BE£Ix

A |O" RFab (KFRHEIE) 10| = 144,155,716

B |OIEER 10 = 65,297,955

C |OBEEHCEYERT) 10 = 3,060,668

D (&% B EFAKSE. s EETiE 10 = 16,901,462

E |@#% MERERIE 10 = 13,775,868

F |®#% MEREIE 10 = 3,478,447

G |O%(EVET) B LFAKeE. shEE s 10 = 1,685,616

H |O®GEVET) B ERsKEIE. S e iE 10 = 1,441,205

1 [Z0thIZE ERHE. BB 10, R 15,317,756

J |EE-LSE 10 = 20,388,380
a&t 285,503,073




2% MREDNEREE-REMEIUEMTSE No. 3
% Lo 14 = B =2 | BEf i ® fi@
A |OH RFaL(KABEREISE)
1 |E#EREIE 10| =& 8,584,659
2 |BLEBKSIETIE 10| =& 9,299,416
3 |ShEREIE 10| =& 4,248,272
4 |BZEREISE 10 = 57,994,764
5 |NEHREIE 10| =& 58,120,830
6 |ZBEREIE 10| = 1,851,519
7 |RAHETSE 10| = 4,056,256
N Et 144,155,716




2% MREDNEREE-REMEIUEMTSE No. 23
% Lo 14 B =2 | BEf i ® fi@
B |DHIBEHK
1 |E#EREIE 10| =& 1,805,387
2 |[xxI=E 10 R 734,280
3 |hEIE 10 = 4,313,920
4 |HEHTE 10| =& 1,729,520
5 |3v9)-tIE 10 = 3,078,324
6 (BRIE 10| =& 1,894,539
7 |HBEIE 10 = 10,748,381
8 |HMHEIE 10 =& 7,007,044
9 [PA/KIZE 10 R 1,170,662
10 |41V T =% 10 R 235,673
11 |KRI=E 10 R 450,871
12 |BRRRUENIE 10 = 4,878,152
13 |[&#BIE 10 = 10,359,864
14 |EBEISE 10| =& 1,724,839
15 [ERHEETSE 10 = 4,773,100
16 [HHFIE 10 = 675,656
17 |BEIE 10 =R 238,219
18 |WNEIE 10 = 3,633,138
19 [A=vbRUZDIMITE 10| = 5,846,386
N 65,297,955




2% MREDNEREE-REMEIUEMTSE No. 56
% Lo 14 B =2 | BEf i ] fi@
C [BEHECEYET)
1 |E#EREIE 10| =& 176,054
2 |[xxI=E 10 R 207,819
3 |hEIE 10 = 17,380
4 |HEHTE 10| =& 193,750
5 [av9)-+tIE 10 = 445407
6 (BRIE 10| = 118,925
7 |HBEIE 10 = 859,241
8 |BIRRUENIE 10 =& 1,023,948
9 |[EEIE 10 = 18,144
N Et 3,060,668




2% MREDNEREE-REMEIUEMTSE No. 66
% Lo 14 = B =2 | BEf i ® fi@

D |®# B EIKBE. 51 EESE
1 |E#EREIE 10| =& 2,472,412
2 |BHkETE 10| =& 8,238,358
3 |ShEREIE 10| =& 3,940,402
4 |BZEREISE 10 = 1,589,414
5 |NEHREIE 10| =& 491,503
6 |ZBEREIE 10| = 169,373

N Et 16,901,462
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£ b 1 # = Bifss {i ® i

E @& RERUE
1 |EEREIE 10| =% 805,450
2 |BEREIE 10| =% 2,872,799
3 |NEREIE 10| = 9,869,048
4 |BEREIE 10| = 228,571

N 13,775,868




2% RE/NFERIEE-REMEREMIE No. 83
£ b 1 # = ==Xv2 {i 2] &

F |®#& RERUE
1 |EEREIE 10| =% 185,712
2 |BEREIE 10| =% 53,203
3 |NEREIE 10| = 3,166,946
4 |BEREIE 10| = 40,998
5 |BAEREIE 10| = 31,588

N 3,478,447




2% BENEREBE- REGEUEMTIE No. 91
% b i3] = # = | B i 28 &

G |(OF(GEVYERT) B LhKSE., s EESE
1 |EEREISE 10 = 181,806
2 [PAKSIEIE 10| X 303,523
3 [SEEREIE 10 = 982,080
4 |BEWEISE 10 = 218,207

N 1,685,616




2% RE/NFERIEE-REMEREMIE No. 96
£ b 1 = # = ==Xv2 {i 2] 1

H |(O8GEYERT) B LBAKSE. S EESE
1 |EEREIE 10| =% 449532
2 |BFKHIEIE 10 = 152,570
3 |MEREIE 10| = 651,776
4 |BEZEISE 10| = 82,167
5 |BEREISE 10| = 105,160

N 1,441,205




2% RE/NFERIEE-REMEREMIE No. 102
£ b 1 # = Bifss {i ® i

I [Z0thIZE
1 |EYEAERETIE 10 = 995,750
2 |FEREIE 10| =% 3,610,760
3 |EM%REIE 10| = 6,806,859
4 |TL-FUrRIEISE 10| = 2,305,160
5 [ERiEBEESUEIE 10| = 1,599,227

N 15,317,756




2% BE/DNEREE- EEabdiEhIE No. 109
% Lo 14 B =2 | BEf i ® fi@
J |WE-LnE
1 |BEE
-1 |0 10| =& 11,309,151
-2 |®&% 10| =& 1,517,559
-3 |@®% 10 R 1,877,616
-4 |8 10| =® 263,532
-5 | GEYERT) 10 = 36,316
-6 | GEYET) 10 =& 575,412
-7 | ZDHhITE 10 = 2,096,524
INET 17,676,110
2 [REMELAE
-1 | 10| =® 484,960
-2 |®% 10| =® 8,230
-3 | @& 10| =& 29,908
-4 (& 10| =® 10,412
-5 |OKGEYERT) 10 =& 3,740
-6 | GEYERT) 10| =® 34
-7 |[ZD#hIE 10 = 360,608
INEF 897,892




2% MREDNEREE-REMEIUEMTSE No. 110
% Lo 14 B =2 | BEf i ® fi@
3 |REMERE
-1 |O# 10 = 681,916
-2 |&" 10| =® 17,284
-3 @& 10| =® 82,455
-4 |8 10| =® 14,063
-5 |@O® GEYERT) 10| = 5,896
-6 | GEYERT) 10 = 80,053
-7 |ZDHfITE 10| = 445171
INET 1,326,838
WEE-REMBELR - REMERE &5 19,900,840
4 |REMUODE
-1 O 10| =® 194,248
-2 |®% 10| =® 758
-3 |@® 10 = 96,209
-4 (& 10| =® 12,312
-5 |OKGEYERT) 10 =& 168
-6 | GEYERT) 10| =® 20,944
-7 |[ZD#hIE 10 = 162,901
INET 487,540
WE-LnEEE 20,388,380




4 W B /N PR - R Fmib e T [ PER] No.
£ PR 1 2 ¥ & HAL B Al & # i

-1 |5 L )
1 |HEEL IRV 7,623,890
R 7,623,890

I — 1| & S i Lo (28&)
2 |18 Rt OB & T 5F) 1 K 14,870,900
3 |41H e 1 K 1,475,310
4 |58 SIEELE | RS fE IRV 3,678,824
5 |7 e 1 K 136,720
6 [15H# e 1 K 994,990
7 |258# W e 1 K 152,130
8 |BIAR e 1 K 145,140
9 |=E4 AR WA PRI EPIE, P 1 = 15,582,388
o = 37,036,402




4 W B /N PR - R Fmib e T [ PER] No.
£ PR 1 2 ¥ & HAL B Al & H i
-1 (&5 T CBrer)
1[4
BT R (1) FEAT 58 1 K 3,765,680
(2) LT 7 1 K 847,650
(3) My 1 K 248,820
EUPAEL ] (1) &y wpfi 1 K 129,740
HEPY I B = e i 1 K 1,856,920
IR 1 K 146,080
G- S E 7l ] () A H—ik 1K 17,950
(2) FALVZERE 1 K 138,180
T L I [F S AE R A 1 K 51,760
B30 - AR=R A Bk (1) B30 1 K 207,720
KRR A (1) BBk S f IRV 213,390

7,623,890




4 W B /N PR - R Fmib e T [ PER] No.
£ PR 1 2 ¥ & HAL B Al il i
I - 11 | BB A 5 (25f&)
2 |1 ReFpmil OB E T.5)
BT R (1) FEAT 58 1 K 690,160
(2) LT 7 1 K 6,865,810
(3) My 1 K 2,795,120
[ubaE ] (1) B /)55 1 K 304,680
HEPY I B = e i 1 K 848,080
IR 1 K 896,140
G- S E 7l ] () A H—ik 1K 31,440
T L L [F S AE R A 1 K 629,670
B30 - AR=RE BRER (1) B30 1 K 425,080
KRR A (1) B #hk S i fi IRV 976,750
(2) B EIFAH 1 K 407,970

14,870,900




4 W B /N PR - R Fmib e T [ PER] No.
£ PR 1 2 ¥ & HAL B Al il i
I - 11 | BB A 5 (25f&)
3 |4kK WER L

ERIE (1) AT g 1 K 692,090
(2) B My 1 K 184,490
HEPIITG B 15 1 s fi 1 K 86,500
IR 1 K 139,060
G- S E 7l ] (DA H—ik 1 K 42,680
T L L [F S AE R A 1 K 106,480
B30 - AIR=EE PRk (1) B30 1 K 35,000
KRR A (1) BBk S f IRV 189,010

1,475,310




4 W B /N PR - R Fmib e T [ PER] No.
£ PR 1 2 ¥ & HAL B Al il i
I - 11 | BB A 5 (25f&)
4 |58 FIEELE | RS fE
ERIE (1) AT g IE: 62,090
(2) 2B My 1 K 60,520
[ubaE ] (1) B /)55 1 K 826,710
15 AR i b (1) R 2R IRV 188,390
IR 1 K 64,440
G- Sl ] (DA H—ik 1 K 228,510
(2) PV SRR 1 K 196,350
T L L [F S AE R A 1 K 31,104
B30 - AR=RE BRER (1) NIB=E 8 1 K 81,170
KRR A (1) BBk S IRV 1,939,540

3,678,824




% TR 2 /PR S - R f L SUEAh T4

[ PER] No.
£ PR 1 2 ¥ & HAL B Al & H
I - 11 | BB A 5 (25f&)
5 |7 WER L
KRR A (1) BBk S IRV 136,720

136,720




4 W B /N PR - R Fmib e T [ PER] No.
£ PR 1 2 ¥ & HAL B Al il i
I - 11 | BB A 5 (25f&)
6 |158 WEB L

ERIE (1) AT g 1 K 257,610
(2) B My 1 K 140,230
[ubaE ] (1) B /)55 1 K 304,340
HEPY I B = e i 1 K 53,720
IR 1 K 34,450
G- Sl ] (DA H—ik 1 K 46,750
T L I [F S AE R A 1 K 34,530
KRR A (1) B#Ehk S IRV 123,360

994,990




% TR 2 /PR S - R f L SUEAh T4

[ PER] No.
£ PR 1 2 ¥ & HAL B Al & H
I - 11 | BB A 5 (25f&)
7 |258 WEB L
KRR A (1) BBk S IRV 152,130

152,130




% TR 2 /PR S - R f L SUEAh T4

[ PER] No.
£ PR 1 2 ¥ & HAL B Al & H
I - 11 | BB A 5 (25f&)
8 [BlIfH WER L
KRR A (1) BBk S IRV 145,140

145,140




4 W B /N PR - R Fmib e T [ PER] No. 10
£ PR 1 2 ¥ & HAL B Al & H i
I - 11 | BB A 5 (25f&)
9 |=4 TSR . WIS . HN IS s . PR, s
ERIE (1) FEAT 4yl 1 K 112,540
(2):!/)2/]\ iz 1 K 9,659
[ubaE ] (1) B /)55 1 K 1,401,810
AR 1 K 7,472,053
G- S E 7l ] (1) A —7K 1 K 38,500
B30 - AR PRk (1) NB=E 8 1 K 12,331
TN EL R S (1) EBAH51AS 1 K 4,522,476
(2) 4441 IRV 1,496,460
HEP (S B (1) 1813 1 K 516,559

15,582,388




GaRi) B /AR R bl Efth T 5 [FPiR] No. 1

4 g i 5 ¥ = BT B ff & i =
M- T | B fi 13 CBres)

1 [HEEER 1] =X 10,485,200

=1 10,485,200

I — I | R e i 15 (2efis)

2 |1 FEFab RS E T5) 1] =X 16,433,985
3 |154K R (& 1] K 1,176,555
4 =4 SMEBLE | Sl KEERERA L2 1] = 18,756,460
7 36,367,000

&t 46,852,200




GaRi) B /AR R bl Efth T 5 [FPiR] No. 2

4 PR 1t 2 ¥ = HAL B Al & H i %
II- T Bz f L Core)
1 m’*ﬁﬁ*ﬁ
A B i 1 K 971,660
fa KA IRV 408,440
2 ] 1 K 869,620
B 1] K 139,480
- BERRR B 1] =X 8,096,000

i 10,485,200




GaRi) B /AR R bl Efth T 5 [FPiR] No. 3

4 PR 1t 2 ¥ = HAL B Al & H i %
I - IO | s L (2l f)
2 |18 ReFamib (KRB S E T5F)
fai A A B 1 K 4,519,200
N 1] K 4,443,570
PR 1 K 4,487,830
ERG IRV 2,038,960
Y 1 K 409,425
WMETH 1 K 535,000

i 16,433,985




GaRi) B /AR R bl Efth T 5 [FPiR] No. 4

4 PR 1t 2 ¥ & HAL B Al & M i %
I - IO | s L (2l f)
3 |158f WERLE
fai A A B 1 K 204,800
N 1] K 153,140
PR i 1 K 454,690
e IRV 179,980
77 A 1 K 158,095
ELAG 1 K 25,850

2 1,176,555




GaRi) B /AR R bl Efth T 5 [FPiR] No. 5

4 PR 1t 2 ¥ = HAL B Al & H i %
I - IO | s L (2l f)
4 |E4 SMBRLE | SR, TR L5
Fa 7K ax 1 K 10,810,370
PR A 1] K 1,603,420
Y 1 K 2,021,340
TH KA IRV 2,404,430
HWETH 1 K 360,000
KERFRAL 1] K 1,556,900

i 18,756,460




